y=o
¢ f4(4) =370 2 sk WA
[\

- ) -
,L'l

£

ils W
o 'F(W)M 9(7v) am M\M&U ol .[ﬁ(q):y(a}:: O
B L 1 CEOP OEECDE

g 20 fus Linat exisk.
o) Ada j‘(’”) e

s {5 wh e quatind wi
. = e ‘ CM\AT up, Kt mu‘)‘

Mgy %

o LMK Ao WA NS K




f(l
+3= -
QL,“Z/:'L"L
Md‘\ ‘:g \3141\_1’}‘) i
3 4
N w«\r *“i“
thad \ :
" i 4 f(k)
i sp
‘M{D .slb\:

2
_.I‘
Y
o

v e
-
u\l
g \‘\iw

A

%
(
f(x)=

J5 ik
% Wi
ik
1«JS
WA
A
> e
(6-2*)
,_ )3
A




H X S T
£ - Cx't‘i)
@ |)3/L
g st inflekimn & 170 e "
5 L <O mumx «f
M A TO wmeave do

o 4 s o e 20

Nt
oA 14\‘ At W@

T R 6 A S




